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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 6948 16.7 3.6 30 55.6 100

55.6 

0 10 20 30 40 50 60 70 80 90 100

1

Facility Factor % 

Q
ue

st
io

n 

GCSE Geography B Unit 2 Section A Foundation 
4242-01 

Line

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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	 (b)	 Study the map below. It shows the location of the Logistics Industrial Park where a new 
L’Oreal factory has been built.

(i)	 Describe the location of the Logistics Industrial Park.	 [3]
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Sticky Note
Although the candidate went on to describe the Park as being “east of the Pacific Ocean”, the same skill (compass direction) had been used twice, and was not double credited. Two further compass directions were used in this answer but were incorrect. To achieve more marks, this candidate needed to make more effective use of the resources, (both maps) and refer to distances and other features relative to the location such as roads.


Sticky Note
1 mark for South of the USA.





Sticky Note
The remaining 2 marks were awarded for “300km north west of Mexico City”. This candidate has made use of three different skills and made full use of the resources available. They have recognised that the Park is south of San Luis Potosi on one map, and used the other map to give a compass direction and distance.

Sticky Note
1 mark awarded for "in Mexico".
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	 (d)	 Study the two photographs below. They show informal workers in Mexican cities.

(i)	 One advantage of informal work is being able to work when you like.
Describe one disadvantage of informal work.	 [3]
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(ii) Explain why many people do informal work in NICs. [5]



(ii)	 Explain why many people do informal work in NICs.	 [5]

	 (e)	 Case studies

Answer only one of the questions, either (i) or (ii).

		 Either,	 Tick (√)
one box

(i)	 A case study about international aid.

Explain why the aid was needed.
Describe the aid given.

		 Or,

(ii)	 A case study about climate change.

Explain why there are differing views about how climate
change can be managed.
Describe attempts to manage climate change at the local scale.

[5]

Explain . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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Sticky Note
A second development point is provided with “so may be unlikely to purchase necessities such as food”. Both of these points are related to the first idea stated, therefore full credit was given for this question.

Sticky Note
“Irregular pay” was developed with “hard to live financially”.

Sticky Note
A mark was awarded for “irregular pay” as the disadvantage identified by the candidate. As only one disadvantage was required by the question, further marks were then given for the development of this idea.





Sticky Note
The candidate was awarded 1 out of a possible 3 marks. Credit was given for “some days you may not get any money”. Although a second point was made: “the work can be difficult and tiring”, they were two unrelated points. The question specifically asked for one disadvantage. Therefore to gain further credit, this candidate could have developed the idea about money. A comment such as “living in poverty” and the implications of this, such as lack of education for children or being unable to feed the family would have developed this answer sufficiently to gain more marks.






Sticky Note
The candidate then achieved the top of level 3, with an additional idea: “they lack the skills”, “so getting a formal job would be highly difficult”, and “income is vital for them to live”. With 2 fully elaborated statements, this response was awarded the top of level 3 and full marks.


Sticky Note
Further elaboration was provided with the comment “allows for a better standard of living and quality of life” which triggered a mark at level 3.  

Sticky Note
The first level 1 statement of “allows flexibility for people” was developed with “so if they have a family they can provide income” giving access to level 2. 

Sticky Note
This candidate achieved all 5 marks for this question with sufficient elaborated points to be awarded the top of level 3. Most candidates did not achieve beyond level 2 for this question. In addition to the quality of the response, the structure of the work also made it clear to the examiner where the ideas had been elaborated. The response is an example of where good practice in teaching is reflected in the students’ work.  





Sticky Note
In order gain more marks, the two ideas could have been linked by explaining that a lack of education could lead to no qualifications or skills to be able to access formal jobs, rather than being offered as separate statements. Alternatively, these two ideas could have been developed by giving examples of low skilled jobs which may be performed by people in NICs, or by linking the idea of lack of education to a cycle of poverty due to parents having low paid jobs in the informal sector.


Sticky Note
The idea that people “don’t have skills for other jobs” is also a level 1 response. The two points were not linked by way of explanation or elaboration. Therefore this answer did not gain credit beyond level 1 (1 mark). 

Sticky Note
This candidate achieved only 1 of the 5 marks. "Lack of education" is a level 1 response.



	 (e)	 Case studies

Answer only one of the questions, either (i) or (ii).

		 Either,	 Tick (√)
one box

(i)	 A case study about international aid.

Explain why the aid was needed.
Describe the aid given.

		 Or,

(ii)	 A case study about climate change.

Explain why there are differing views about how climate
change can be managed.
Describe attempts to manage climate change at the local scale.

[5]
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Describe . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .







Sticky Note
Specific details were then related to the question with “aid was needed to provide….food and water so they could survive so better quality of life”. 

Sticky Note
Specific details were included on why the aid was needed, such as, “…in 2004 a severe drought hit Mali and Niger” and “3.3 million people, 800,000 children faced food shortage and famine”. 

Sticky Note
This response was clear, detailed and specific, and correctly focused on the question and command words. The candidate achieved level 3, and all 5 marks. 



Sticky Note
The response ended with reference to a specific NGO, and clear description of the aid given:  “Oxfam also provided education for young girls so they could become educated so they could pass it on to their children”.


Sticky Note
The second part of the question was addressed with specific details such as “… the UK government gave Mali £3 million…..every £1 million was able to feed 200,000…..allowing a decrease in starvation”. 







Sticky Note
In order to gain access to level 2, statements such as “huge shortage of food and clean drinking water” could have been qualified with the implications of this such as disease or hunger.  


Sticky Note
Although the candidate referred to Japan in the opening sentence, there was no further reference to the case study, thereby producing a generic response at level 1. 

Sticky Note
This candidate was awarded 1 mark out of a possible 5, with the response not moving out of level 1. 




Sticky Note
Ideas such as “food supplies, bottled water, first aid kits and blankets” could have been developed with ideas on how these items would have helped people, to deserve a mark at level 2.








Sticky Note
Lists of strategies to tackle climate change, and a lack of focus on the first part of the question were common issues with this question. The idea that “there’s local scale, national scale and international scale” was worthy of credit at level 1 with a recognition that there are different approaches. However no examples of strategies or locations were offered which would have given access to level 2. 

Sticky Note
This example was awarded 1 mark at level 1. 



Sticky Note
“Reduce, reuse, recycle” and “energy saving light bulbs” were not supported with ideas on how they might help to manage climate change, nor any examples of specific initiatives at a local scale to move the answer into level 2 or beyond.








Sticky Note
Statements such as “China produces the most gases by burning fossil fuels but they would not sign it” (Kyoto agreement), were elaborated with “as they make too much money” to reach level 2. 

Sticky Note
This response was awarded 4 out of a possible 5 marks. The answer was focused on the question set, and had sufficient specific details to trigger a mark at level 3. 



Sticky Note
How could this candidate have achieved the top of level 3?


Sticky Note
In the second part of the question the candidate has a range of simple statements such as “not using as much electricity” and “solar panels”. The reference to BedZED in Surrey and “eco-friendly and sustainable homes” gives this candidate access to level 3 and 4 marks. 
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UNIT 4242/01 – Unit 2 Section A Foundation Tier 


Unit 2a Foundation Rationale Expected answer 


A
O


1
 


A
O


2
 


A
O


3
 


S
P


a
G


 


T
o


ta
l 


Study the map below.  It shows the location of the Logistics Industrial Park where a new L’Oreal factor has been built. 


(bi) Describe the location of the 
Logistics Industrial Park. 


Credit 3 separate correct observations 
(3x1) 


Credit 2 separate correct 
observations, one of which is 
elaborated 
1 + (1+1) 


Credit one wholly elaborated 
observation (1+1+1)  


In (central) Mexico / South of San Luis Potosi / 27 kms 
from San L P  (allow 15 / 30 kms) / 270 kms from 
Mexico City ( allow 250-350 kms) ... or any other correct 
referencing (e.g. roads) 


Outskirts of San Luis Potosi (max 1 for reference to 
roads) 
In central Mexico (1) 27 kms (1) south (1) of San Luis  
No more than 1 mark for quoting distance and direction. 


In central Mexico (1) 270kms (1) NW (1) of Mexico City. 


Max 2 marks if there is no reference to the Logistics 
Industrial Park specifically. Do not accept ‘near to’ or 
‘close to’. 


3 3 
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Unit 2a Foundation contd... Rationale Expected answer 
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Study the two photographs below.  They show informal workers in Mexican cities 


(di) One advantage of informal work 
is being able to work when you 
like. Describe one disadvantage 
of informal work. 
 


Credit a worthy observation. Award 
elaboration marks for developed strands. 
 
Elaboration points must link to initial 
descriptor. 
 
The examples (right) are only illustrative, 
reward other worthy observations. 
 
1+2 elaboration.  


No regular income / low pay (1) ... so may be 
short of money (1) so may go hungry (1) 
Can be dangerous / tough (1) particularly for 
children (1) 
Some customers may not pay (1) 
You work in the open/no shelter (1) so may 
suffer bad weather (1) 


1 2   3 


(dii) Explain why many people do 
informal work in NICs. 


Levels of response marking. Work 
upwards from the lowest to the highest 
level. Award 0 marks if the answer is 
incorrect or irrelevant. 
 
Level 1: simple statements. 
  (1 mark) 
 
Level 2: simple statements are briefly 
elaborated.                            (2/3 marks) 
 
Level 3: detailed and specific 
elaboration of initial statement. 
  (4/5 marks) 
 
 
 
 
 
Candidates who refer to named 
countries / cities give info about specific 
jobs will generally be working in level 3. 
 


Simple statements: No proper jobs / they are 
skipping school/ poor education.  
 
They can choose working hours. 
 


Simple elaboration: 
Education is poor.......so they don’t have skills. 
They have just arrived from the countryside.....so 
they haven’t had time to look for proper jobs. 
The family may be poor....so the children have to 
earn money.  
Chose working hours...so can fit work around 
child care. 
 


Detailed and specific elaboration: 
Education is poor, this means they may not be 
able to read and write, so many jobs are out of 
their reach. 
They may have arrived from the countryside in 
search of work (push factors may be mentioned 
as well). On reaching the city they find that there 
are no vacancies. 
The family may be poor...so children have to 
work, so that the family can eat (...or pay for 
school books / the rent etc.) 


2 3   5 
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Unit 2 a Foundation contd.... Rationale Expected answer 
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Study the two photographs below.  They show informal workers in Mexican cities 


(e) CASE STUDY: Either.... 
 
(i) Aid scheme 
 
Explain why the aid was 
needed. 
Describe the aid given. 
 
 
(ii) Climate Change: 
 
Explain why there are differing 
views about how climate 
change can be managed. 
Describe attempts to manage 
climate change at the local 
scale. 


 
Levels of response mark scheme. Work 
upwards from the lowest level.  Award QWC as 
an integral part of a best fit decision. 
Award 0 marks if the answer is incorrect or 
irrelevant. 
 
Level 1: Simple statements. Communication is 
basic. 
There is little or no structure and / or ideas are 
communicated in brief statements / bullet 
points. (1 mark)  
 
Level 2: Gives a range of generic descriptive or 
explanation points either of which is elaborated. 
Information is communicated by brief 
statements.  There is a basic structure.  There 
is reasonable accuracy of spelling, punctuation 
and grammar. 
  (2/3 marks) 
 
level 3: Provides an elaborated account which 
includes some description or explanation 
specific to the place.  Communication is clear 
and logical. Spelling, punctuation and grammar 
have considerable accuracy. (4/5 marks) 
 


The aid scheme can be short term emergency 
aid,  such as relief effort following Hurricane 
Katrina, the Hati earthquake / The Pakistan 
floods. 
 
Alternatively, long term development aid may be 
chosen such as comic relief in Burkina Faso / 
Action Aid - goat aid scheme in Kenya. 
 


------------------ 
 


Explanation about why views differ may come 
from a wide and varying range of starting points. 
Allow for this. The location of the stakeholder / 
their job / the development of the country they 
live in / the way that climate change is already 
impacting on them (as examples). 
Attempts at management at a local scale may 
stem from a variety of starting points, e.g. the 
role of the individual or the role of local 
organisations might feature in responses. 
Management can include preventative measures 
and or coping measures 
 
 
The descriptor for Level 3 matches the 
descriptor for Level 2 (of 4 levels) on the 
Higher paper. 
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   Total 10 13 7 0 30 
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